> A
A & 0l & AF 2 E A A
201789 = S04 LB H ASIMR=
S EE P
g Ngos =24
9l ClARY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OIS AIR =2 1,035,775 971,894 63,881
ANgos 29 991,575 950,990 40,585
A2 17,212 17,212 0
O MARsY i 17,212 17,212 0
201 L2l 12,312 12,312 0
01 At 22l 12,312 12,312 0
OoFJIAnd=E 75 1,512
INR=IDADN| 7,000& x32« 1228 252
HEAS 1,260
-2 15,000& »3F «12& 540
- XX 12,000 x5 «12& 720
OolMARAA: 2N FSDS
600,000 *8H 23] 9,600
O2Zustd ?8u=s 600,000& x2H 1,200
202 O4dl 1,800 1,800 0
01 =L 4 Hi 1,800 1,800 0
OYZFusUE WU 300,000 6 1,800
203 YR =2l 1,600 1,600 0
03 A FAH S =AY 1,600 1,600 0
o9&z =& 1,600,000 1,600
405 XtatE SHI 1,500 1,500 0
02 =M=l 1,500 1,500 0
Oo&Extzs &A 100,000& =15 1,500
SHES 974,363 933,778 40,585
o|¥Es A& 901,503 864,918 36,585
101 1A Hl 44,845 22,149 22,696
04 JIZtHZ2XNHEE S 44,845 22,149 22,696
O3l H A st 2tel(29) 44,845
il 65,6703 x246 2 «2H 32,310
=Xt 65,6703 x52 »2H 6,830
- 2 Xt 65,6703 x 12 +2H 1,577
SR aPERSD
20,359,000& »4 . 5%*2H 1,833
- UEBERES 20,359,000& *1.5%*2H 611
CAMHEEREZ 20,359,000& *0.9%*2H 367
LR
20,359,000% *3.035%*2H 1,236
LRI RYEERES
618,000& *6.55%*2H 81
201 Let2dE] 34,687 46,652 211,965
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2N AEARE
o Ngols 29

Sel: oZES (ol @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 At 22l 22,845 35,764 212,919
O3ZoE HAMAAH RAE >
30,000,000 x12% 3,600
Oqd¥=sE2 =T+ M 10, 000& *300= 3,000
Oodgs Hd= M 15,0002 1005 1,500
OZAME & EFE HH 10,0002 » 1504 1,500
OzloE &2t 9,800
2A Al 3 600,000 x83| 4,800
gzl 2,500,000& *23| 5,000
O3 2HES 1,890
-l O ESIHD EYH 190, 000& =34 570
- EAEX 20,0002 10 A 200
CANRES 400,000& 400
- At OISt 300& 20004« 12& 720
Oz &d M 974
CEA Y S8 ME(HE HASE)
3,000& = 1304 390
239 &2He 223 400,000& 400
232 ALME 8,000 234 184
OSJ3AE F)| HEZ 48,4003 123 581
02 3323l 11,842 10,888 954
OFUE MBZ 50,000& 1CH*12& 600
O2J3ANRH BHSHE 30,000 x12& 360
O3 AR CXNELEESSNZ 46,2008 «128 555
OPE=2=IN 7,010
SIFSE= 4,810,000& »1CH 4,810
S8 2,200,000 = 1CH 2,200
OXNHEEZ 917
SIFSE= 317,000& = 1CH 317
SEE 600,000& = 1CH 600
OXtS XHA 1,200
EIPSE= 200&+3,000cc 600
S8 200& *3,000cc 600
(OF 2= 100,000& »12& 1,200
203 YR =&t 3,200 3,200 0
03 Al =X AR =LY 3,200 3,200 0
Oo3AER= SRFA 3,200,000 3,200
205 2l 3/t 797,271 772,917 24,354
01 2 &&=l 198,000 198,000 0
Oz esl 900,000& x15H x12& 162,000
OBx&Es 200,000& x15H x12& 36,000
02 83+Y 424,566 412,917 11,649
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S LHEENEE
M ez 29
Sel: oZES (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O2d+¢Y 2,290,000 15 122 *103% 424,566
055 o8Egdass&l 64,800 64,800 0
Oy32gss 8l 4,800,000& *15% *90% 64,800
06 23 2HLR=AH| 69,660 69,660 0
Oo32dgRF=4aL| 69,660
- Ol & 2,400,000& *1H x12& x90% 25,920
2o 1,200,000 * 1« 122 *90% 12,960
AURAAH 900,000 *3H *12& *90% 29,160
HZ2AHAE 900, 000& *1H x2& x90% 1,620
08 Q=002 = 19,106 15,660 3,446
SEEELEEI-T
2,358, 700& x4 . 5%*15H x12& 19,106
09 Q=001 AHAREZ 21,139 11,880 9,259
SEEELEEEI-T 21,139
SRIEENES-EA=E
2,358,700 *3.035%* 15 »12& 12,886
SO QABEHEL S
700,000& *6.55%* 15 »12& 8,253
304 A= RE3S 20,000 20,000 0
0B oRANMMHNREE S 20,000 20,000 0
O3 20,000,000& 20,000
401 Al HI YL 2 0HHI 1,500 0 1,500
01 A& HI 1,500 0 1,500
O2JJAANRAE BSAIE &X 1,500,000& 1,500
SlPSEmES 72,860 68,860 4,000
201 LEt2HYH| 560 560 0
01 AFR2t2l bl 560 560 0
O ZRIA0Y AASIO BELY
70,000& *4H %23 560
202 04| 14,800 14,800 0
01 2L Yl 4,800 4,800 0
OoFels o EDIR HIRAE S 8
200,000& x8H 33| 4,800
03 22AHR0H| 10,000 10,000 0
O&ZXOIS HWAZE =8 2,500,000& x4H 10,000
205 2| 3| bl 57,500 53,500 4,000
03 2/ =2 b 11,000 9,000 2,000
O3+ A Yl 11,000,000& 11,000
04 2| & =2/ 04H| 37,500 37,500 0
ONZ23 HlwAlZE 37,500,000& 37,500
07 AEHEANEE = 9,000 7,000 2,000
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SN QB AR
Bu: TYols 2

Sel: oZES (ol @)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2

||| PEEEEENIEEE 9,000,000¢ 9,000

HHSHHH (B AR Z) 44,200 20,904 23,296

Jl=23Hl 44,200 20,904 23,296

Jl23Hl 44,200 20,904 23,296

201 Bt A | 15,300 11,754 3,546

01 AFR22t2ldl 11,280 10,944 336
OFRAEE=EH| 5,400,000 5,400
OJls2gd2s+8 2| 5,040,000 5,040
Ogrx4 29 840,000 840

02 332494l 4,020 810 3,210
Ol Xl 46,000,000 *3% 1,380
Ogs&H KX 88,000, 000& *3% 2,640

203 ¥R =AY 8,400 8,400 0

01 J|22IHRF=XY| 3,000 3,000 0
OJ&#2dd2F&8Y| 3,000,000 3,000

02 E 3Ot R =AH| 1,200 1,200 0
OFJAINNMAR =Y 1,200,000& 1,200

04 ENSIHRF=Y| 4,200 4,200 0
OFNM2IIRF&Y| 4,200
Ol AR = 250,000& x12& 3,000
23 A 100,000& = 12& 1,200

401 AIEHIL 201 5,500 0 5,500

01 A& bl 5,500 0 5,500
OLED d&Z T &X 3,000,000 3,000
O=JIAHSU & 2,500,000& 2,500

405 XtabF SHI 15,000 750 14,250

01 AL 2B F SHI 15,000 750 14,250
OAIRIt7 WAl 15,000, 000& 15,000

- 1056 -




